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Tpe Tho  Version B
sg'rliun A: Reading Cnmprghm,lnn
Read the following passage carcfully, and then answer the questions below it

1 Polluton i any contamination of the ewironment which causes harm 1o the environment or 1o its infabitants.
There are many kinds of pollution, and there are many polluting raterials, or pollutants. Some obvious kinds
of pllution are pollution of the air, soil, and water. Some less obvious kinds of pollution are notse, light
pollution, and greenfiouse passes (gses that cuse rise in temperature of the earth’s atmosphere).

§ Airpollution ¢an be caused by solid wastes, liquids, or gascs that make the air harmful 1o breathe,
There ane two main nypes of air pollution : primary and secondary . Prinary pollutants enter the air
directly, like smoke from factocies and car exhaust. Secondary pollutants are chemicals that mix
together to pollute the air, like mixtures of emlissions, or waste output, from vehicles and factory
smoke 1hat change 1o form moge dangerous pollutants in the 3ir and sunlight.

10 Soil pollution can be caused by pesiicides (insects killer), leak from chemical tanks and oil spills.

11 Water pollution can be caused by wasle products, sewage, oil spills, and liner in streams, rivers,
Likes, and occans. Some scientists believe that water pollution is the largest cause of death and
disease in the world. causing about 14,000 deaths in the world each day.

14 Noise pollution can be caused by vehicle, aireraft, and industrial noise. It has health effects on people
and aninuls. In peeple, it can cause high blood pressure, heart problems, sleep disturbances, and
hearing problems . In aninuls, it can cause communication. reproductive, and navigation problems
= they have dilficulty finding their direction,

18 Light pollurion ¢an be caused by advertising signs, stadium and city lighting, and other anificial
lighting (like the light caused by night 1raffic). Anificial lighting has bealth efTects on bunans and
animals. In people. it can cause high blood pressure and afTect sleeping . Jr might be a factor in some
cancers, such as breast cancer, In animuals, it can affect slecping, navigation, and reproduction.

22 [n addition, greenhouse gases have caused a warming effect on the eantl's climate. The greenhouse
ER$5¢S are Walet vapor. carbon dioxide. meitlane, and ozone. They're natura ly-occurring gases in the
almasphere. but humon activity has increasad their concentration in the Atmosphere. Although carbon
dioxide is necessary for plants 10 survive, it is also considered to be a kind of pollution because high
levels of carbon dioxide kave caused the oceans 10 become more acidic,

27 Theve is general agréement, or consensun by scientists thar humans need 10 1ake steps 10 reduce
emissions of waste products and greenhouse gases im0 the atmosphere, and think about ways of
preventing the increase of poliution and global warming.

IESTIONS:
?L\Elfar is an effect of anificial light pollution®
A. Hearing problems . B. Low energy,
. D. Both A and B are comect.
2. Whar kind of pollution may a car cause?

ir pollution. B. Light pollution.
A. Arr P‘"ﬂ 2 T
= \Vhat kind of pollution is thought to cause the mosI; dm:‘ nnlcl discase?
A Air pollution. . Soil pollution
g ;t:r,po"umn' : D. Noise pollution,
4.The pronoun It in lin€ No. 20, refers to.... =
- fair pollution®
5. What isan example of aur po g S&T;nkc from factories,
[ Ex;iauﬂ from 1raflic. - Qil from oil spijis.
' - B > f=ty = _ﬁ
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-
¢ No. 15, refers (0.... X

—

7)) The pronoun - B. Industrial noise

A. discase :

(O C. h:ahh effect D nojsc pollution

= ¢ one : version A

¢} 7. Emissions 0rC light pollution and carbon dioxide nbsorbed by plants
e s lf;:::;:r:s, xilnclu and sunlight

GJ D. pollution, gasses &:::1 ;?:rnﬂu‘l'“'

sus,
E . |r,‘:;: e :ncc‘:;m;? prol:lcms C. pollution D. none of i}
I s o l!‘:‘1'E[-«T;Jn'.-:llhtl: as used in line 5, could best be replaced by....
> Eﬁ; ‘Biphale  C.blow D. extale

Ny 10 Carbon dioxide is..
S A neccssary for plant survival B.A. C and Dare corregt

D. a kind of greenhouse gas

N C. a form of air pollution
Section B: Grammar =

the correct answers.
D— Choose 'Sam did his homework.'is an afTirmative sentence wbosc negative form iy

wf==d  ]1.The sentcnce : 4 e
-+ A Sam doesn't do his homewor
-~ C. Sam didn't have any homework. D. Sam hasn't done bis homework.
. 11. Both ol my brnlhcrs are looking | formrd to ... back o Yemen. _
A.came = “B.are coming =Tk %Y 0, to come D. coming
13. Mahmnnd Al-Khawlany is the person ... falhcr—m-hw is my manager.
A whosg B. whom C.which’ = D.who
14. Our neighbour and his family ... their garden when we came home.
— A. were cleaning B. has been .cleaning
C. has cleaned D. are clcnmng :
CD 15. Even if things are cxpensive, most businessmen will continuc ... new hous:s.
— A. is buildirig B. building C. build D, builds .
3 16. .....his younger sister drives badly, she hasn't made any accident so far.
- A Because B, Although C.If - - D.But
: 17. Mai has a Bachelor s degree in teaching Arabic , an cxpcriencc and training ..
working with foreigners.
e A. for B.in C.on D. at
l 18. The swine ﬂu. Which is known as HINI, spreads rapidly...
— 0 B.isn'tit? C.isit? D. does it!
QO  19-Muheir friend . ., they would have been very happy.
+— B. comes C. hascome D, came
O 20. The > sentence, She has given us four books . is an active sentence whose passive form e
iy v
@) B.Wc were given four books by her
C. ¢ hﬂvcnl bccn g“rc“ ruur huok b I
) it o boks by e
N given to us by her. -
B May Allah Grant You All S
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